DcX
r»>0 _ r,C r-K
K 7 KS € K
r0__ r_,C 3~
K, V'K, < ‘0

D, € Z, = XA¥AW

r J b +b_rlr+b r— G
Il C
RTA R IRrh“—‘rb IRr-ﬁ—b
2r+e,0 2r + e O 2r + e,
= C
RQr—i—a C2r+a 2r +¢€
Dy € Z, = Xa¥aW
r J Fogpr+o_rlr+0b roC
ll
HK\ H Hr|r+b Hr+b
re U _ 2r Q .
H, "~ C, < H,
d 1ld d
Ry 1|dRU <R
2 P2 2[2 1.2
- (o=
HpVH S H,, © ',
40U _ 4-C 3.2 K
H, 7 *HY < M,
Do € Zg = %AW
r J b~ +b_rlr+b r G
il cC
(CK\ C (Cr|r+b (Cr+b

r U _ 2r Q0 (e
c/ 7 RE € 'C

2r +e¢ U 2r + ¢ 2r + e 0
c, 'TH, ¥t

2r+e¢e 2r +¢e 2r+e¢e
U —
VR E M o
10 6 9
—25 3 ~ 0
WVE, T E. € °0
Cc 3

d 2/d d
4 il c
YRy 2|dRU C



